<o @> (rad)

< 00, > (M)

<opyp, > ()

Ratio

0.2 ; ~ 0.2p
F : A F
o : ) o T
0.15F----ereeieeeee gt B0, erofreioee e[
F : o F
DRI PU § B H U R < N IS PR PO R
0.0 : v O
0.05f-+++-merieeees g 0.05f =+ ofreiereer oo fioree e
OF----weeesiveees A SSRTRTRY O« freieee e
0 X01s| ERRRRRR S I SO ST ~0.05f -+ et Joe
NV SR R T e T TR
IR 1| SRR S J LS | A R R = ] SRR TR
_02; 1 |||||||! 1 ||0||! 1 ||||||! EEERTIT 9_02: R A | 1 ||||||! 1 |||||||! EEERTIT
1.5F----- S D T Y PP PE P PEPEPEPER = E 1
USRS 1§ 1 B 0 R | A I I T
0.55— ---------------- [ ] RCLETEETPES 1‘ """" ..- """""""""""""
0: L ad o

=
o
N

-1 2 3 2 3
10 1 TPlpoT (PCA t%obeamlinélf) 1 TPlpoT (PCA t%obeamlinélf)

—=— DQM_mkFit_TT_base_noSel

—— DQM_mkFit_TT_retrainOldFiles_v2_8iter_noSel

100 =
3 1l IS
- N 3
8OF----HHEHAHH-H e = gob TR
60:—"""49-» e 'DN N § R R
o o)
40+ HEHAT L v % PO T 11 F 4 F R
r H + H . F
20:— ------ A SRCTERRTPIPR E E3 A
r . HE} . r 1 -+
Of------ il R fresnnanas Of---- SRR | R
-20F------ f R0 § LR EREETTEIE -20F---- N1 | RRREEEEEEETERE
—40F- -+ e e —40F -+ fe g
o HERs » : [
~60F- -+ FHHFH Ao -60F - {1} e
~8OF-+++++- P FHEF A R -80F---+{H-{ HH{ e R
100F i , , o-100F i, , ,
L N I B 0 1 P ) R IS E : : :
r : @ i S ECREE Y EERPR-EPE E R R
I F £+
. I A I A O 0.5f------- e

0 . 0 : .
1 2 3 -1 2 3
10 1 TPlp?T (PCA tjbobeamliné'f) 10 1 TPlp?T (PCA tjbobeamliné'f)

|
=
AR LALYS
Y
o —+
P = Cru T PP SR
"
—+
——
-~ O o
¥
44

o 4 +
- e
F H -+
E hdlE ] H
—2F---- - FE A B EEE R
E ol
-3F----1---- H EEE T 3 R B
E 1 :
—5E . ] ull 1L ]
E ES
2:_ .............................................
o <+
F <+
L N B e B
o -o:i

1

[y
o2
I8

: 2 3
TPl[:g)T (PCA t%)obeamlin%)o



	Contents
	Page 1


